normalized X?

1.126
0.8383

Mean
Std Dev

,_.

S
b
"

,_.
OI
b

0 2 4 6 8101214161820
X2

[ normalized x? probability |

Entries

[

"0 01020304 .50.60. 0809 1

mmmm= DQM_TT__mkFit-DQM_original-0
e DQM_TT__mkFit-DQM_original-127
m——— DQM_TT__mkFit-DQM_mod-127

(%]

N
]
T

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

<o pTIpT > (Yo)

Ratio

. :
10" 1 10 10? p103
T

[l

- -

<op./p. > )

o LN w A

I
=

Ratio
.
o

=3 -2 -1 0 1 2 3
TP n (PCA to beamline)

< X2/ ndf >

i
T T[T [T [T T I [T TIT T

1072 107
AR(track, jetg)



	Contents
	Page 1


